O 2-HoNA x of 27

D 7+8V2 @ 7+8V3 ® 8+8V2
@ 8+ 843 G 94+ 842



D (1)22V2,(2)43V3 @ (1)22V2,(2)45V3
® (1)22V2,(2)48V3 @ (1)24V72,(2)45V3
® (1)24V2,(2)48 3



oS O u 2 AABC oA /B =85°, /C =
65°, BC =12 & wf, AB ©] do]g &5 ofef
AR ZFe]7kA] FSHA? (T, sin 65 ° = 0.9063)
O 20.153 @ 21.751 B 22.482

@ 23.581 ® 24.372
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& AZ4d7H ABC 914 A = 34° &

o, o] BC & Fo1H? (&, sin34° =
0.5592, cos 34° = 0.8290 )

@ 20.141cm @ 21.523cm

@ 22.368 cm @ 23.694 cm

3 24.194 cm




oh5 19 0] HPAPAT ABCD oA
AB = 6cm , BC = 10cm , /BCD =
120° 4 wf, AC o] Zo]=?

® V67 @ V71

® 2v19 @ 36

& V95
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D 2v2 (cm?) @ V3 (cm?)
@ 33 (cm?) ® 5 (cm?)
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T~-4em-”

3 3v2 (cm2

-



ohg T 22 AABC AlA AB =6, ,
BC=10°]2, Yo7k 15v3 L uf, /B o] |

3717 (HF,90° < /B <180°) 6
D 95° @ 100° ® 120°

@ 135° B 150°



oy

?(,

T+ 22 AABC o4 AC = 18

C=1209]1, Ho|7} 54 & 0, 2.C 9

90° < £C < 180°)

@ 100° ® 120°

B 150°



9. o2 1¥3 22 AABC 9] Wol|E F5HH?

@D 48v6 @ 4845 @ 48vV3 @ 482 (B 48



10. & 1389 AABC °|4 AB
12cm, BC = 24cm, /B = 60°
o, AC o] Zo]&?

ne

® 10V6cm ® 11V4cm
® 12v3cm @ 13v5cm
G 14vV2cm




11. o8 18L& /ABH = 60° Q1 9%
ojt} . Yol Hulg J15hH?
@ 243V3n @ 244V3n
® 2453 @ 243\5r
® 246 V5n




FHHI 20° & o] F= FAHEC] gt o] BAHE FrtE 0 =27
OFy o2& 0w 30° B HgFo R 120m LEEe o, 48 227]
A2 2 Bt 2 m E2 3ol Al HeA 44 A A7
FFH? (T, sin20° = 0.3420 )

® 34.5m @ 34.6m



13. th2 193 Zo] A9 o7} 20em 1 X127 OA €F 30° 9] 71 ©]
£ A= A 9IRS 7122 H em 9] w0l 9l=A] F5hi?

11N 30°

@ 30cm @ (20-10v3)cm
® (20 -10v6) cm @ 30v2cm
3 30vV6cm



14. v 24 ABS] Zeol=?

O 12 @ 13
@ 15 ® 16

® 14







16.

ohg 13} 2ol
B Aol A 7177
0|8 Fotm?

@ 80m

@ 110m

B=1
F A= P

00m, /ABQ = 90°, /BAQ = 30° ©|1,
A& g8t & Z+o] 60°F o, 7172

90 m ® 100m






18. thg I gol §ExF2] Zo)7} 5em Q1 Hofl WHste
HolE avbem? oItk a—b O] F27 (B, b H2 A
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@D 40 @ 42 3) 44 @ 46

B 48

7_|1—

)

&

94



19. ©S I3 -2 gABCD 9] Yol & Fotoiat

D 72 +45V2(cm?) @ 722 +45V3(cm?)
® 72V2 +45(cm?) @ 722 4+456(cm?)
® 723 +45V6( cm?)



20. the 19 2ol AWORRE 10m koo Yk 71TE F A
A, B oA 2aitt 2 7hm7t 217} 50%, 55° 2 o, ok A7

ol-g3ste] F A4 A, B Atole] A E?

Zte sin cos tan
35 0.5736 0.8192 0.7002
40 0,6428 0.7660 0.8391

D 7.002m @ 8.192m ® 14.088m

@ 15.393m G 15.852m
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